

County Distribution Detail Report through 08/03/2021

Aurora

Autora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,028	1,930	13	2,971	\$3,713.75	\$117.65	\$3,596.10	0.70	\$2,517.27
							Entity Tot	al:	\$2,517.27
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,517.27
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.47	\$0.47	0.70	\$0.33
6/2021	3,383	10,474	410	14,267	\$17,833.75	\$379.69	\$17,454.06	0.70	\$12,217.84
							Entity Tot	al:	\$12,218.17
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,218.17
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	870	1,183	5	2,058	\$2,572.50	\$59.53	\$2,512.97	0.70	\$1,759.08
							Entity Tot	al:	\$1,759.08
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,759.08
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,738	3,976	14	5,728	\$7,160.00	\$144.48	\$7,015.52	0.70	\$4,910.86
							Entity Tot	al:	\$4,910.86
							Adjustme	nt:	\$0.00

Total Amazinti	£4.040.0C
Total Amount:	\$4.910.86

Brookings

Butte

J									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-1.08	\$1.08	0.70	\$0.76
6/2021	10,337	21,341	192	31,870	\$39,837.50	\$838.43	\$38,999.07	0.70	\$27,299.35
							Entity Tota	al:	\$27,300.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$27,300.11
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-1.17	\$1.17	0.70	\$0.82
6/2021	8,745	26,281	583	35,609	\$44,511.25	\$965.84	\$43,545.41	0.70	\$30,481.79
							Entity Tota	al:	\$30,482.61
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$30,482.61
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.77	\$0.77	0.70	\$0.54
6/2021	2,076	3,714	50	5,840	\$7,300.00	\$147.21	\$7,152.79	0.70	\$5,006.95
							Entity Tota	al:	\$5,007.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,007.49
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	525	450	3	978	\$1,222.50	\$25.71	\$1,196.79	0.70	\$837.75
							Entity Tota	al:	\$837.75
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$837.75

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.70	\$0.70	0.70	\$0.49
6/2021	2,208	6,551	42	8,801	\$11,001.25	\$239.20	\$10,762.05	0.70	\$7,533.44
							Entity Tota	al:	\$7,533.93
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,533.93
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	659	1,387	17	2,063	\$2,578.75	\$53.10	\$2,525.65	0.70	\$1,767.96
							Entity Tota	al:	\$1,767.96
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,767.96
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	2,458	5,521	69	8,048	\$10,060.00	\$207.40	\$9,852.60	0.70	\$6,896.82
							Entity Tota	al:	\$6,896.82
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,896.82
City of Box Elder, Mo	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	73	2,863	103	3,039	\$3,798.75	\$95.35	\$3,703.40	0.70	\$2,592.38
							Entity Tota	al:	\$2,592.38
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,592.38
City of North Sioux (City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	603	2,773	123	3,499	\$4,373.75	\$100.06	\$4,273.69	0.70	\$2,991.58

Entity Total:	\$2,991.58
Adjustment:	\$0.00
Total Amount:	\$2,991.58

Adjustment:

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-2.88	\$2.88	0.70	\$2.02
6/2021	3,345	11,302	223	14,870	\$18,587.50	\$385.91	\$18,201.59	0.70	\$12,741.11
							Entity Tota	al:	\$12,743.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,743.13
City of Sioux Falls, L	_incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.70	\$0.70	0.70	\$0.49
6/2021	4,497	26,242	2,689	33,428	\$41,785.00	\$871.43	\$40,913.57	0.70	\$28,639.50
							Entity Tota	al:	\$28,639.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$28,639.99
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,216	2,284	50	3,550	\$4,437.50	\$91.34	\$4,346.16	0.70	\$3,042.31
							Entity Tota	al:	\$3,042.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,042.31
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-3.16	\$3.16	0.70	\$2.21
6/2021	1,602	7,615	254	9,471	\$11,838.75	\$247.61	\$11,591.14	0.70	\$8,113.80
							Entity Tota	al:	\$8,116.01

							Total Amount:		\$8,116.01
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-1.31	\$1.31	0.70	\$0.92
6/2021	6,588	18,945	818	26,351	\$32,938.75	\$701.25	\$32,237.50	0.70	\$22,566.25
							Entity Tota	al:	\$22,567.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$22,567.17
Corson									·
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,006	707	306	2,019	\$2,523.75	\$50.95	\$2,472.80	0.70	\$1,730.96
							Entity Tota	al:	\$1,730.96
							Adjustmer	nt:	\$0.00
							Total Amount:		\$1,730.96
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-1.54	\$1.54	0.70	\$1.08
6/2021	3,213	5,870	51	9,134	\$11,417.50	\$255.40	\$11,162.10	0.70	\$7,813.47
							Entity Tota	al:	\$7,814.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,814.55
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-2.08	\$2.08	0.70	\$1.46
6/2021	4,487	14,000	303	18,790	\$23,487.50	\$487.13	\$23,000.37	0.70	\$16,100.26

Entity Total:

Adjustment:

Total Amount:

\$16,101.72

\$16,101.72

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.38	\$0.38	0.70	\$0.27
6/2021	1,901	3,479	59	5,439	\$6,798.75	\$138.87	\$6,659.88	0.70	\$4,661.92
							Entity Tota	al:	\$4,662.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,662.19
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,610	2,895	65	4,570	\$5,712.50	\$125.05	\$5,587.45	0.70	\$3,911.22
							Entity Tota	al:	\$3,911.22
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,911.22
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-1.54	\$1.54	0.70	\$1.08
6/2021	1,110	2,145	14	3,269	\$4,086.25	\$83.82	\$4,002.43	0.70	\$2,801.70
							Entity Tota	al:	\$2,802.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,802.78
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2021	1,162	2,882	38	4,082	\$5,102.50	\$103.41	\$4,999.09	0.70	\$3,499.36
							Entity Tota	al:	\$3,499.52
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,499.52
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

				_					
5/2021	0	0	0	0	\$0.00	\$-0.77	\$0.77	0.70	\$0.54
6/2021	2,865	4,605	27	7,497	\$9,371.25	\$192.08	\$9,179.17	0.70	\$6,425.42
							Entity Tota	al:	\$6,425.96
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,425.96
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	695	1,460	22	2,177	\$2,721.25	\$55.50	\$2,665.75	0.70	\$1,866.03
							Entity Tota	al:	\$1,866.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,866.03
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.70	\$0.70	0.70	\$0.49
6/2021	1,873	5,274	49	7,196	\$8,995.00	\$183.06	\$8,811.94	0.70	\$6,168.36
							Entity Tota	al:	\$6,168.85
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,168.85
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,577	3,517	5	5,099	\$6,373.75	\$140.16	\$6,233.59	0.70	\$4,363.51
							Entity Tota	al:	\$4,363.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,363.51
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	961	1,345	5	2,311	\$2,888.75	\$58.10	\$2,830.65	0.70	\$1,981.46
							Entity Tota	al:	\$1,981.46

Adjustment: \$0.00 **Total Amount:** \$1,981.46

Total Amount:

\$1,271.86

Н	ar	n	ľ	ir	١
---	----	---	---	----	---

Hallini									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2021	1,492	3,815	26	5,333	\$6,666.25	\$134.33	\$6,531.92	0.70	\$4,572.34
							Entity Tota	al:	\$4,572.50
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,572.50
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2021	977	2,587	30	3,594	\$4,492.50	\$94.90	\$4,397.60	0.70	\$3,078.32
							Entity Tota	al:	\$3,078.48
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,078.48
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	803	3,070	31	3,904	\$4,880.00	\$101.01	\$4,778.99	0.70	\$3,345.29
							Entity Tota	al:	\$3,345.29
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,345.29
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	651	839	2	1,492	\$1,865.00	\$48.06	\$1,816.94	0.70	\$1,271.86
							Entity Tota	al:	\$1,271.86
							Adjustme	nt:	\$0.00

Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-2.17	\$2.17	0.70	\$1.52
6/2021	582	3,005	187	3,774	\$4,717.50	\$146.35	\$4,571.15	0.70	\$3,199.81
							Entity Tota	l:	\$3,201.33
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,201.33
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	2,668	5,123	53	7,844	\$9,805.00	\$211.97	\$9,593.03	0.70	\$6,715.12
							Entity Tota	l:	\$6,715.12
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,715.12
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	569	1,047	10	1,626	\$2,032.50	\$41.18	\$1,991.32	0.70	\$1,393.92
							Entity Tota	l:	\$1,393.92
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,393.92
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	578	846	4	1,428	\$1,785.00	\$36.10	\$1,748.90	0.70	\$1,224.23
							Entity Tota	ıl:	\$1,224.23
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,224.23
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	769	1,300	7	2,076	\$2,595.00	\$52.27	\$2,542.73	0.70	\$1,779.91

Entity Total	\$1,779.91 \$0.00				
Total Amou	\$1,779.91				
Surcharge	Entity Percent	Entity Amount			
\$1,424.44	0.70	\$997.11			
Entity Total		\$997.11 \$0.00			

Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	509	650	4	1,163	\$1,453.75	\$29.31	\$1,424.44	0.70	\$997.11
							Entity Tota	al:	\$997.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$997.11
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.93	\$0.93	0.70	\$0.65
6/2021	1,079	3,950	50	5,079	\$6,348.75	\$141.03	\$6,207.72	0.70	\$4,345.40
							Entity Tota	al:	\$4,346.05
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,346.05
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.71	\$0.71	0.70	\$0.50
6/2021	2,505	8,899	2,498	13,902	\$17,377.50	\$356.75	\$17,020.75	0.70	\$11,914.53

La

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.71	\$0.71	0.70	\$0.50
6/2021	2,505	8,899	2,498	13,902	\$17,377.50	\$356.75	\$17,020.75	0.70	\$11,914.53
							Entity Total:		\$11,915.03
							Adjustme		\$0.00
							Total Am	ount:	\$11,915,03

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-1.85	\$1.85	0.70	\$1.30
6/2021	7,045	17,387	266	24,698	\$30,872.50	\$637.89	\$30,234.61	0.70	\$21,164.23

Entity Total: \$21,165.53

Adjustment: \$0.00

Total Amount:	\$21.165.53
i Olai Allioulil.	9Z 1, 10J.JJ

Lincoln

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
E/2024	0	0	Lines	0	20.00	¢ 0.47	¢0.47	Percent	የ 0.22
5/2021	2 200	0	0	0	\$0.00	\$-0.47	\$0.47	0.70	\$0.33
6/2021	3,396	23,480	1,583	28,459	\$35,573.75	\$809.99	\$34,763.76	0.70	\$24,334.63
							Entity Tot	al:	\$24,334.96
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$24,334.96
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.38	\$0.38	0.70	\$0.27
6/2021	1,014	1,803	285	3,102	\$3,877.50	\$84.42	\$3,793.08	0.70	\$2,655.16
							Entity Tot	al:	\$2,655.43
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,655.43
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,468	2,892	31	4,391	\$5,488.75	\$117.75	\$5,371.00	0.70	\$3,759.70
							Entity Tot	al:	\$3,759.70
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,759.70
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,856	4,203	18	6,077	\$7,596.25	\$155.14	\$7,441.11	0.70	\$5,208.78
							Entity Tot	al:	\$5,208.78
							Adjustme	nt:	\$0.00
							Total Amo		\$5,208.78
McPherson									·

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	906	1,526	4	2,436	\$3,045.00	\$71.70	\$2,973.30	0.70	\$2,081.31
							Entity Tota	al:	\$2,081.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,081.31
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.93	\$0.93	0.70	\$0.65
6/2021	3,024	18,314	194	21,532	\$26,915.00	\$577.95	\$26,337.05	0.70	\$18,435.94
							Entity Tota	al:	\$18,436.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$18,436.59
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	540	701	0	1,241	\$1,551.25	\$31.13	\$1,520.12	0.70	\$1,064.08
							Entity Tota	al:	\$1,064.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,064.08
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	938	1,617	15	2,570	\$3,212.50	\$68.36	\$3,144.14	0.70	\$2,200.90
							Entity Tota	al:	\$2,200.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,200.90
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
1/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25

2/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
3/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
3/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
4/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
4/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
5/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
5/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
5/2021	0	0	0	0	\$0.00	\$-33.93	\$33.93	0.70	\$23.75
6/2018	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
6/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
6/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
6/2021	37,925	152,819	4,980	195,724	\$244,655.00	\$5,250.36	\$239,404.64	0.70	\$167,583.25
7/2018	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
7/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
7/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
8/2018	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
8/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
8/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
9/2018	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
9/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
9/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
10/2018	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
10/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
10/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
11/2018	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
11/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
11/2020	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
12/2018	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
12/2019	46	0	0	46	\$57.50	\$0.00	\$57.50	0.70	\$40.25
12/2020	92	0	0	92	\$115.00	\$0.00	\$115.00	0.70	\$80.50

Entity Total: \$168,854.75

Adjustment: \$0.00

Total Amount: \$168,854.75

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,159	4,621	85	5,865	\$7,331.25	\$168.37	\$7,162.88	0.70	\$5,014.02
							Entity Tota	al:	\$5,014.02
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,014.02
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-12.30	\$12.30	0.70	\$8.61
6/2021	23,015	83,274	2,544	108,833	\$136,041.25	\$2,942.79	\$133,098.46	0.70	\$93,168.92
							Entity Tota	al:	\$93,177.53
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$93,177.53
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,669	2,244	23	3,936	\$4,920.00	\$111.24	\$4,808.76	0.70	\$3,366.13
							Entity Tota	al:	\$3,366.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,366.13
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2021	1,053	1,794	9	2,856	\$3,570.00	\$71.91	\$3,498.09	0.70	\$2,448.66
							Entity Tota	al:	\$2,448.82
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,448.82
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	3,151	5,153	20	8,324	\$10,405.00	\$229.90	\$10,175.10	0.70	\$7,122.57

Entity Total:	\$7,122.57
Adjustment:	\$0.00

Total Amount: \$7,122.57

Adjustment:

Total Amount:

\$0.00

\$1,491.61

Sanb	0	r	r
------	---	---	---

Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	735	1,796	12	2,543	\$3,178.75	\$64.80	\$3,113.95	0.70	\$2,179.77
							Entity Tota	al:	\$2,179.77
							Adjustmer	nt:	\$0.00
							Total Amo	\$2,179.77	
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2021	1,723	4,484	61	6,268	\$7,835.00	\$161.15	\$7,673.85	0.70	\$5,371.70
							Entity Tota	al:	\$5,371.86
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,371.86
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.23	\$0.23	0.70	\$0.16
6/2021	667	2,168	41	2,876	\$3,595.00	\$75.93	\$3,519.07	0.70	\$2,463.35
							Entity Tota	al:	\$2,463.51
							Adjustmer	nt:	\$0.00
							Total Amount:		\$2,463.51
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	572	1,164	4	1,740	\$2,175.00	\$44.13	\$2,130.87	0.70	\$1,491.61
							Entity Tota	\$1,491.61	

_	 	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	0	112	2	114	\$142.50	\$14.07	\$128.43	0.70	\$89.90
							Entity Tota	ıl:	\$89.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$89.90
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	2,154	3,936	46	6,136	\$7,670.00	\$157.86	\$7,512.14	0.70	\$5,258.50
							Entity Tota	al:	\$5,258.50
							Adjustmer	nt:	\$0.00
							Total Amount:		\$5,258.50
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,944	6,341	14	8,299	\$10,373.75	\$210.72	\$10,163.03	0.70	\$7,114.12
							Entity Tota	al:	\$7,114.12
							Adjustment:		\$0.00
							Total Amount:		\$7,114.12
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	2,582	11,067	335	13,984	\$17,480.00	\$434.91	\$17,045.09	0.70	\$11,931.56
							Entity Tota	al:	\$11,931.56
							Adjustmer	nt:	\$0.00
							Total Amount:		\$11,931.56
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2021	1,807	3,474	208	5,489	\$6,861.25	\$140.48	\$6,720.77	0.70	\$4,704.54

Entity Total: \$4,704.54

Adjustment: \$0.00

Total Amount: \$4,704.54

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2021	0	0	0	0	\$0.00	\$-0.70	\$0.70	0.70	\$0.49
6/2021	4,699	16,131	500	21,330	\$26,662.50	\$568.43	\$26,094.07	0.70	\$18,265.85
							Entity Tota	\$18,266.34	
							Adjustment:		\$0.00
							Total Amo	unt:	\$18,266.34
Totals	194,061	610,643	20,784	825,488	\$1,031,860.00	\$22,064.36	\$1,009,795.64		